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Topic :-DIFFERENTITATION

1. Iff(x) =+/x*—2x + 1, then
a) f'(x) = 1for all x
b) f'(x) = —1forallx <1
c) f'(x)=1forallx>1
d) None of these

2. Ifu=sin"! (;) + tan~! (%),then the value of x Z—Z +y Z—;is

a)o b)1 c)2 d) None of these

3. Ifu(x,y) =ylogx + xlogy, then uyu, — uylogx — uy logy + logxlogy is equal to
a)o b) —1 1 d)2

4. Ifx = Acos4t + Bsin4t, then ‘;—Zt’zcis equal to

a) —16x b)16x c)x d) —x
5. If f(x) has a derivative at x = a,then)lci_r)l(il%f(x) is equal to

a) f(a) —af'(a) b)af(a) —f'(a) c) f(a) + f'(a) d)af(a) + f'(a)
6. %[xx + x* 4 a* + a%] = ..,a is constant

a) x*(1 + logx) + a.x%1

b)x*(1 + logx) + ax* ! + a*loga

c) x*(1 +logx) +a* (1+ loga)

d)x*(1 + logx) + a*(1 + loga) + ax*~! +a%(1 + loga)

7. Ify=a*p*1, then%is
a) y*log ab? b) ylog ab? c) y? d)y(log abz)2

8. Iff(x) =x+ 2, then the value of f'[f(x)] atx =4 is
a)8 b)1 c) 4 d)5

2
9. Ifax?+2hxy + by? =1, then % equals
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h? + ab h? —ab h? + ab h? —ab
) b)o 7 9 e Ao 05
(hx + by) (hx + by) (hx + by) (hx + by)

10. Let f(x) = sinx,g(x) = x? and h(x) = log, x.If F(x) = (hogof)(x), then F"(x)is equal to

a) a cosecx b) 2cot x? — 4x?cosec’x?
c) 2xcot x? d) —2 cosec? x
11. Ifsin"'x + sin~ty = g then Z—iis equal to
x x y y
a)j, b) —7 c)y d) —%
12. If y = tan"!(secx — tanx),then Z—z is
a) 2 b) —2 05 d)—=
tes t d’y .
13. Ifx = e'sint, y = e‘cost, thenﬁatx =m,is
1 1 2
a) 2e” b)ze” ) oo d)_-
14. The derivative of f(x) = 3|2 + x| at the point xg = —3, is
a)3 b) -3 o d) Does not exist
2
15. Ifvariables x and yare related by the equation x = Y 1 du,then d—z is equal to
0 /1 +9u? dx
1 1
a)+/1+9y? b) = 9y? c) 9y d)zy
16. If f(x) = xtan™! x, then f'(1)is equal to
1 L 1 T 1 T 1 T
a);+3 b)=3+3 ) —3—% d)z—%

17. If f:(— 1,1)>R be a differentiable function with f(0) = —1 and f'(0) = 1. Let g(x) =
[f(2f(x) + 2)]% Then, g'(0) is equal to
a)4 b) —4 o d) -2

18. The differential coefficient of the function |x — 1| + |x — 3| at the pointx =2 is
a) —2 b)0 c)2 d) undefined

19. If y = tan"( secx — tanx), then Z—z is equal to

a) 2 b) —2 A5 d) -3

. d 3
20. If x = acos*®, y = asin*, thend—zatG =Tnls

a) —1 b)1 ¢) —a? d) a?
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